#### **Garland Independent School**

#### **GISD Sourcing Bid Tab Report**

Bid#:	31996	Title: 17-19 Refrigerated and
		Frozen Foods

Quote#	Vendor / Supplier	EPCNT	Discount
538482	*AEM ECK ACQUISITION INC	Yes	0
538467	*ARYZTA LLC	Yes	0
537445	ASIAN FOOD SOLUTIONS	YES	No additional
538484	*BRAUN BEEF CO INC	Yes	1/2% 10 Net 11
	BRIDGFORD MARKETING COMPANY	Yes	N/A
	*CAL-TEX CITRUS JUICE LLP	Yes	N/A
	CHEFS CORNER FOODS	Yes	None
537458	COMIDA VIDA INC	YES	No Additional
	CONAGRA BRANDS, INC.		-
538486	*DEL REAL LLC	Yes	0
538435	DOUBLE B FOODS	No	I submit direct ship
	ES FOODS	Yes	N/A
	FOSTER POULTRY FARMS	Yes	0
	*GENERAL MILLS SALES INC	No	0%
		ves as long as	0%
	GOOD SOURCE SOLUTIONS GOODMAN FOOD PRODUCTS	YES	5.000 lbs. COMBINED
	*HARVEST HILL BEVERAGE COMPANY	Yes	0.000 ibs. COMBINED
	HEART OF TEXAS BISCUITS INC	Yes	0%
	INTEGRATED FOOD SERVICE	Yes	N/A
	*J AND J SNACK FOODS SALES CORP	No	N/A 0
537440	J AND J SNACK FOODS SALES CORP	NO	U
538422	*J R SIMPLOT COMPANY	Yes	Price quoted 43,000
			lb full truckload.
538475	*JENNIE O TURKEY STORE SALES LLC	Yes	0
	JTM PROVISIONS CO INC	Yes	10%
	*MCI FOODS INC	Yes	2%. 2.000 pound
	*MCLANE EXPRESS INCORPORATED	No	11%
	*MICHAEL FOODS	Yes	0
	*NARDONE BROS BAKING CO INC	Yes	1%
	*NATIONAL FOOD GROUP INC	No	NA
	OUT OF THE SHELL LLC	Yes, as long	No percent discount
	*PADRINO FOODS LLC	Yes	0
	*PERDUE FARMS INCORPORATED	YES if they	Firm Bid Pricing
	*PILGRIMS PRIDE CORP	Yes	Minimum shipment
	*PRAIRIE MILLS BAKING COMPANY LLC	Yes	0%
	RICH PRODUCTS CORPORATION	NO	2% 10 NET 11
	*RUIZ FOODS INCORPORATED	Yes	Minimum orders are
	S. A. PIAZZA & ASSOCIATES. LLC	Yes	N/A
537434	*SCHWANS FOOD SERVICE	No	N/A
	SKY BLUE FOODS LLC	Yes	0%
	*STERLING BV INC	Yes	0
	*TASTY BRANDS LLC	Yes	1%
538449	*THE FATHERS TABLE LLC	ves	1%
	TYSON PREPARED FOODS INC	Tyson	For districts electing
300.71		•	to use direct delivery,
		we will	• •
			the facility must have
		consider	a loading dock.
		extending the	
		terms.	
	*VAN WOLFS LLC	no	n/a
	VESAR FOODS LLC	Yes	N/A
538443	*WINDSOR QUALITY FOODS COMPANY	Yes	0
	LTD		

4NS - Not to specifications 1NL - Not low when unit price is calculated 4MO Minimum order quantities to restrictive 3TQ Tast quality of product unacceptable 8PS - Failed to provide product sample

#### \*Confidential

Line		Award			Commercial			Extended
#	Item Description	(Y / N)	Reason	иом	Supplier	Qty	Price	Price
-	nom Bood ipnen	(1711)	rtouoon	O O III	ouppilo:	a.y	11100	1 1100
	<b>BEEF ENCHILADAS, 51% WHOLE</b>							
1	GRAIN BREAD COMPONENT	Υ		CS	FOSTER POULTRY FARMS	3000	\$32.64	\$97,920.00
					*MCLANE EXPRESS			
				CS	INCORPORATED	3000		
				CS	*MCI FOODS INC	3000		
		Υ		CS	*BRAUN BEEF CO INC	3000		
	(CPT) BEEF FAJITAS, RAW,							
	MARINATED STRIPPED SKIRTS,							
	LOWER SODIUM PREFERRED,				*MCLANE EXPRESS			
2	10# CASE	Υ		CS	INCORPORATED	3500		
				CS	*BRAUN BEEF CO INC	3500		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
3	BISCUIT, 51% WHOLE WHITE WHEAT, PAR-BAKED, PRE- SLICED, NO TRANS FAT		4NS	cs	*GENERAL MILLS SALES INC	1500		
			1NL	cs	BRIDGFORD MARKETING COMPANY	1500	\$19.65	\$29,475.00
		Υ		cs	*BRAUN BEEF CO INC	1500		
				cs	RICH PRODUCTS CORPORATION	1500	\$25.80	\$38,700.00
				cs	*PRAIRIE MILLS BAKING COMPANY LLC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	CONAGRA BRANDS, INC	1500	\$27.30	\$40,950.00
	BLUEBERRIES, IQF, 20# BULK, USAGE DEPENDS ON USDA ALLOCATION		4MO	cs	*J R SIMPLOT COMPANY	2000		
		Y		CS	*MCLANE EXPRESS INCORPORATED	2000		
				cs	*BRAUN BEEF CO INC	2000		
	CINNAMON CHIP, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, NUT FREE	Y		cs	*BRAUN BEEF CO INC	1500		
				cs	RICH PRODUCTS CORPORATION	1500	\$44.75	\$67,125.00
				cs	*MCLANE EXPRESS	1500		·
	BROCCOLI CUT, GRADE A CUTS WITH 35% HEAD MATERIAL, 20# BULK	Υ		cs	*BRAUN BEEF CO INC	2000		
0	BOEK							
				CS	*MCLANE EXPRESS	2000		
				CS	INCORPORATED	2000		
	BROWNIE, FUDGE, 51% WHOLE GRAIN, INDIVIDUALLY			CS	*J AND J SNACK FOODS	2000	\$19.45	\$38,900.00
7	PACKAGED		ЗТО	CS	SALES CORP HEART OF TEXAS BISCUITS	400		
		Y		CS	INC	400	\$24.96	\$9,984.00
				CS	SKY BLUE FOODS LLC	400	\$30.72	\$12,288.00
				cs	*NATIONAL FOOD GROUP INC	400		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
					***************************************	400		
				cs	*STERLING BV INC	400		
				cs	*BRAUN BEEF CO INC	400		
				cs	*MCLANE EXPRESS INCORPORATED	400		
				cs	*VAN WOLFS LLC	400		
	WHOLE GRAIN BREADING, 3.29 OZ,BREAST AND RIB MEAT ONLY, 148/CS		4NS	cs	PILGRIMS PRIDE CORP	2000	\$32.70	\$65,400.00
			ЗТО	cs	*PERDUE FARMS INCORPORATED	2000		
			3TQ	cs	*BRAUN BEEF CO INC	2000		
	CHEDDAR, REDUCED FAT, BULK	Υ		cs	TYSON PREPARED FOODS INC	2000	\$52.18	\$104,360.00
	PACKED, 4/5# BAGS/CS, LAND O LAKES #44751 OR EQUAL			cs		250	NB	NB
	(CPT) CHICKEN FAJITAS, RAW, MARINATED, LOWER SODIUM, PRE-CUT IN STRIPS, 7/2#	у		cs	*MCLANE EXPRESS INCORPORATED	4000		
				cs	TYSON PREPARED FOODS	4000	\$32.10	\$128,400.00
				cs	*BRAUN BEEF CO INC	4000		
				cs	PILGRIMS PRIDE CORP	4000	\$81.00	\$324,000.00
	SANDWICH, 51% WHOLE GRAIN BREADED CHICKEN PATTY, IN BETWEEN TWO 51% WHOLE	у		cs	*PRAIRIE MILLS BAKING COMPANY LLC	1500		
	ROLL DOUGH, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY				BRIDGFORD MARKETING			
	QUICK FROZEN		3TQ	cs	COMPANY	1000	\$24.70	\$24,700.00
			ЗТО	cs	*J AND J SNACK FOODS SALES CORP	1000		
			ЗТО	cs	RICH PRODUCTS CORPORATION	1000	\$26.77	\$26,770.00
					*MCLANE EXPRESS		Ψ2.0.11	Ψ20,110.00
			3TQ	CS	INCORPORATED	1000		
		Υ		CS	*BRAUN BEEF CO INC	1000		
	CINNAMON ROLL MINIS, IW, WG, 72/CASE		3TQ	cs	SKY BLUE FOODS LLC	1600	\$21.24	\$33,984.00
			ЗТО	cs	*PRAIRIE MILLS BAKING COMPANY LLC	1600		
		Υ		cs	*GENERAL MILLS SALES INC	1600		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*BRAUN BEEF CO INC	1600		
				cs	*MCLANE EXPRESS INCORPORATED	1600		
	CINNAMON SWIRLS, 2 PACK, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/CASE	Y		cs	SKY BLUE FOODS LLC	1600	\$27.79	\$44,464.00
15	BUTTER SUGAR, 51% WHOLE GRAIN, REDUCED FAT, NUT FREE PREFERRED		ЗТQ	cs	*MCLANE EXPRESS INCORPORATED	750		
			3TQ	cs	*PRAIRIE MILLS BAKING COMPANY LLC	750		
			3TQ	cs	*J AND J SNACK FOODS SALES CORP	750		
			3TQ	cs	*BRAUN BEEF CO INC	750		
			зто	cs	*ARYZTA LLC	750		
		Υ		CS	*VAN WOLFS LLC	750		
16			3TQ	cs	*MCLANE EXPRESS INCORPORATED	2000		
			3TQ	cs	*PRAIRIE MILLS BAKING COMPANY LLC	2000		
			3TQ	cs	*J AND J SNACK FOODS SALES CORP	2000		
			3TQ	cs	*ARYZTA LLC	2000		
			зто	cs	*BRAUN BEEF CO INC	2000		
		Y		cs	*VAN WOLFS LLC	2000		
	WRAPPED, SWEET BATTER 51% WHOLE GRAIN, BEEF AND/OR POULTRY, SKELETAL MEAT		4NS	cs	*MCLANE EXPRESS INCORPORATED	500		
		Y		CS	GOODMAN FOOD PRODUCTS	500	\$20.88	\$10,440.00
				cs	FOSTER POULTRY FARMS	500	\$42.48	\$21,240.00
18	CORN DOG MINIS, WG, 40 SERVINGS/CASE	Y		cs	FOSTER POULTRY FARMS	2000	\$18.70	\$37,400.00
				cs	TYSON PREPARED FOODS INC	2000	\$19.08	\$38,160.00
				cs	GOOD SOURCE SOLUTIONS	2000	\$19.25	\$38,500.00
				cs	*MCLANE EXPRESS INCORPORATED	2000		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*AEM ECK ACQUISITION INC	2000		
	CORN, CUT, BULK, GRADE A			cs	JTM PROVISIONS CO INC	2000	\$69.00	\$138,000.00
	FANCY, 20#, USAGE DEPENDS ON USDA ALLOCATION		4MO	cs	*NATIONAL FOOD GROUP INC	5000		
		Y		cs	*MCLANE EXPRESS INCORPORATED	5000		
				cs	GOOD SOURCE SOLUTIONS	5000	\$25.52	\$127,600.00
	DINNER ROLLS, FROZEN							
	DOUGH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 240/CS	Υ		cs	BRIDGFORD MARKETING COMPANY	2500	\$16.36	\$40,900.00
					*MCLANE EXPRESS			
				cs	INCORPORATED	2500		
					RICH PRODUCTS			
				CS	CORPORATION	2500	\$19.37	\$48,425.00
				cs	*J AND J SNACK FOODS	2500		
				US	SALES CORP	2500		
				cs	*PRAIRIE MILLS BAKING COMPANY LLC	2500		
				cs	*BRAUN BEEF CO INC	2500		
	DONUT RING, BULK PACKED,				*PRAIRIE MILLS BAKING			
21	51% WHOLE GRAIN, 84/CS		3TQ	CS	COMPANY LLC	400		
				-	***************************************	400		
		Y		CS	*BRAUN BEEF CO INC	400		
				cs	RICH PRODUCTS CORPORATION	400	\$27.68	\$11,072.00
				-	*MCLANE EXPRESS			,
				cs	INCORPORATED	400		
	APART HOT DOGS, INDIVIDUALLY WRAPPED, 51%							
	WHOLE GRAIN BUNS, 90/CASE,	Υ		cs	*BRAUN BEEF CO INC	200		
	DUTCH WAFFLE, BULK PACKED,				*J AND J SNACK FOODS			
23	51% WHOLE GRAIN, 48/CASE	Υ		CS	SALES CORP	800		
24	EGG ROLL, VEGETABLE, 51% WHOLE GRAIN, 130/CASE		3TQ	cs	*WINDSOR QUALITY FOODS COMPANY LTD	600		
		Υ		cs	CHEFS CORNER FOODS	600	\$43.00	\$25,800.00
				cs	*BRAUN BEEF CO INC	600		
			ĺ	CS	*SCHWANS FOOD SERVICE	600		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	ASIAN FOOD SOLUTIONS	600	\$50.00	\$30,000.00
	WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT FRYING	Y		cs	*MCLANE EXPRESS INCORPORATED	1500		
	COOKED, 51% WHOLE WHITE			cs	*BRAUN BEEF CO INC	1500		
	WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED		зто	cs	*ARYZTA LLC	1000		
			зто	cs	*PRAIRIE MILLS BAKING COMPANY LLC	1000		
			4NS	cs	*THE FATHERS TABLE LLC	1000		
			4NS	cs	*NATIONAL FOOD GROUP INC	1000		
		Y		cs	*BRAUN BEEF CO INC	1000		
				cs	RICH PRODUCTS CORPORATION	1000	\$33.25	\$33,250.00
				cs	*MCLANE EXPRESS	1000		
	FRENCH TOAST, MINIS, BERRY FLAVOR, INDIVIDUALLY							
	WRAPPED, 72/CASE		4MO	cs	*BRAUN BEEF CO INC	1500		
		Υ	ı	cs	*GENERAL MILLS SALES INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
	FRENCH TOAST STICKS, BULK PACK, 480 EA./CASE	Y		cs	*PRAIRIE MILLS BAKING COMPANY LLC	1500		
				cs	*MICHAEL FOODS	1500		
				cs	*BRAUN BEEF CO INC	1500		
				cs	RICH PRODUCTS CORPORATION	1500	\$29.00	\$43,500.00
				cs	*MCLANE EXPRESS	1500	<del>+20.00</del>	Ţ.5,000.00
	COOKIE EDOOTED DIRTHRAY			US	INCORPORATED	1300		
	COOKIE FROSTED, BIRTHDAY WHITE, 126/CASE	Υ		cs	GOOD SOURCE SOLUTIONS	350	\$38.25	\$13,387.50
				cs	*BRAUN BEEF CO INC	350		
				cs	RICH PRODUCTS CORPORATION	350	\$42.84	\$14,994.00
				cs	*MCLANE EXPRESS INCORPORATED	350	Ţ.210-7	Ţ. 1,00 HIO

# Item Description (Y/N) Reason UOM Supplier Oty Price Price    Supplier	Line		Award			_			Extended
100	#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
SNL   CS   INCORPORATED   150   15	30			4MO	cs	INTEGRATED FOOD SERVICE	150	\$47.58	\$7,137.00
NAM & CHEESE RIPPERS, WG,   Y   CS   GOOD SOURCE SOLUTIONS   150   \$99.48   \$14,922.00				1NL	CS		150		
HAM & CHESS RIPPERS, WG, 105/CASE   Y   CS GOOD SOURCE SOLUTIONS   2300 \$75.80 \$173.880.00			Υ		CS		150		
10   10   10   10   10   10   10   10					cs	GOOD SOURCE SOLUTIONS	150	\$99.48	\$14,922.00
100% JUICE, 98/CASE	31		Υ	I	cs	GOOD SOURCE SOLUTIONS	2300	\$75.60	\$173,880.00
ORANGE JUICE, FROZEN, 100%  JUICE, 96/CASE  1NL  CS 'GAL-TEX CITRUS JUICE LLP  12000  1NL  CS 'BRAUN BEEF CO INC  12000  Y  CS 'CAL-TEX CITRUS JUICE LLP  12000  Y  CS 'CAL-TEX CITRUS JUICE LLP  12000  MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE  SEANS, LIMB BEANS, CARROTS, CORN, AND PEAS, GRADE A, 12/22-54/CASE  CS 'BRAUN BEEF CO INC  TSO  CS 'BRAUN BEEF CO INC  TSO  CS 'JR SIMPLOT COMPANY  TSO  CS 'JR SIMPLOT COMPANY  TSO  CS GOOD SOURCE SOLUTIONS  TO STAND PEAS, IO.F.,  WHOLE GREEN BEANS, SLICED CARROTS, OLICE PEPPERS  TO STAND PEAS, IO.F.,  WHOLE GREEN BEANS, SLICED CARROTS, VLICED WALL SUBJECT COMPANY  TMCLANE EXPRESS INCORPORATED  TMCLANE EXPRESS  TMCLANE EXPRESS  TMCLANE EXPRESS	32			1NL	cs		18500		
ORANGE JUICE, 98/CASE  INL  CS  THARVEST HILL BEVERAGE  COMPANY  INL  CS  TRAUN BEEF CO INC  12000  TARNS FAT, ALL VEGETABLE  BEANS, LIMA BEANS, CARROTS, CORN, AND PEAS, GRADE A.  12/2.58/CASE  TORN, AND PEAS, GRADE A.  TORN, AND PEAS, CARROTS, CARRO				1NL	cs	*BRAUN BEEF CO INC	18500		
100   12000			Υ		cs	*CAL-TEX CITRUS JUICE LLP	18500		
100   12000									
MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE BEANS, LIMA BEANS, CARROTS, CORN, AND PEAS, GRADE A, 35 12/2-5#/CASE  CS 'BRAUN BEEF CO INC 750  CS 'J R SIMPLOT COMPANY 750  CS 'MCLANE EXPRESS INCORPORATED 750  CS 'JR SIMPLOT COMPANY 750  CS 'MCLANE EXPRESS INCORPORATED 750  CS 'JR SIMPLOT COMPANY 1050  WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, 27 ZUCCHINI, AND RED PEPPER  'MCLANE EXPRESS INCORPORATED 1050  'MCLANE EXPRESS	33			1NL	cs		12000		
MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE BEANS, LIMA BEANS, CARROTS, CORN, AND PEAS, GRADE A, 35 12/2.5#/CASE  CS 'BRAUN BEEF CO INC  CS 'J R SIMPLOT COMPANY  CS 'MCLANE EXPRESS INCORPORATED  TO MICHANE EXPRESS INCORPORATED  CS 'J R SIMPLOT COMPANY  TO MICHANE EXPRESS INCORPORATED  TO MICHANE EXPRESS T				1NL	cs	*BRAUN BEEF CO INC	12000		
TRANS FAT, ALL VEGETABLE BEANS, LIM BEANS, CARROTS, CORN, AND PEAS, GRADE A, 35 12/2.5#/CASE  CS 'BRAUN BEEF CO INC 750  CS 'JR SIMPLOT COMPANY 750  CS 'MCLANE EXPRESS INCORPORATED 750  CS GOOD SOURCE SOLUTIONS 750  EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  WHOLE GREEN BEANS, SLICED CARROTS, Y CS INCORPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, Y LICENSES INCORPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, Y LICENSES INCORPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, Y LICENSES INCORPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, ZUCCHINI, AND RED PEPPER 4MO CS 'JR SIMPLOT COMPANY 400  "MCLANE EXPRESS INCORPORATED 1050  "MCLANE EXPRESS INCORPORATED 4MO CS 'JR SIMPLOT COMPANY 400  "MCLANE EXPRESS			Υ		cs	*CAL-TEX CITRUS JUICE LLP	12000		
CORN, AND PEAS, GRADE A, 2/2.5#/CASE  CS *BRAUN BEEF CO INC 750  CS *J R SIMPLOT COMPANY 750  MCLANE EXPRESS INCORPORATED 750  CS GOOD SOURCE SOLUTIONS 750 \$31.30 \$23,475.00  EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  WHOLE GREEN BEANS, SLICED CARROTS, Y CS MICCAPPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, 2UCCHINI, AND RED PEPPER  4MO CS *J R SIMPLOT COMPANY 400  *MCLANE EXPRESS INCORPORATED 1050  *MCLANE EXPRESS INCORPORATED 400  *MCLANE EXPRESS 400  *MCLANE	34	TRANS FAT, ALL VEGETABLE	Y		cs		1500		
CS MCLANE EXPRESS TO SINCORPORATED TO SI	35	CORN, AND PEAS, GRADE A,	Υ		cs	*BRAUN BEEF CO INC	750		
CS INCORPORATED 750  CS GOOD SOURCE SOLUTIONS 750 \$31.30 \$23,475.00  EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  4MO CS JR SIMPLOT COMPANY 1050  *MCLANE EXPRESS INCORPORATED 1050  WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, ZUCCHINI, AND RED PEPPER  4MO CS JR SIMPLOT COMPANY 400  *MCLANE EXPRESS					cs	*J R SIMPLOT COMPANY	750		
EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS **IR SIMPLOT COMPANY  *MCLANE EXPRESS **MCLANE EXPRESS					cs		750		
EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS **IR SIMPLOT COMPANY  *MCLANE EXPRESS **MCLANE EXPRESS									
EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS *INCORPORATED  *MCLANE EXPRESS **IR SIMPLOT COMPANY  *MCLANE EXPRESS **MCLANE EXPRESS									
EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F.,  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS INCORPORATED  *MCLANE EXPRESS ** ** ** ** ** ** ** ** ** ** ** ** *					cs	GOOD SOURCE SOLUTIONS	750	\$31.30	\$23,475.00
WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, ZUCCHINI, AND RED PEPPER 4MO CS *J R SIMPLOT COMPANY 400  *MCLANE EXPRESS  *MCLANE EXPRESS  *MCLANE EXPRESS  *MCLANE EXPRESS	36	JULIENNE CARROTS, CUT CORN,		4MO	cs	*J R SIMPLOT COMPANY	1050		
WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, ZUCCHINI, AND RED PEPPER 4MO CS *J R SIMPLOT COMPANY 400  *MCLANE EXPRESS			Υ		CS_	*MCLANE EXPRESS			
*MCLANE EXPRESS	37	CARROTS, YELLOW SQUASH,		4MO					
			Υ			*MCLANE EXPRESS			

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	MUFFIN, ORANGE PINEAPPLE or SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN,							
38	60/CASE	NA		cs	*STERLING BV INC	1000		
39	MUFFIN, CHERRY OR SIMILAR FLAVOR, WG, IW, 120/CASE	NA		cs	*STERLING BV INC	1000		
	PANCAKES, BUTTERMILK, BULK				*PRAIRIE MILLS BAKING			
40	PACK, 144/CASE	Υ		cs	COMPANY LLC	3400		
				cs	*BRAUN BEEF CO INC	3400		
	PANCAKES, MINI MAPLE CHIP, 3", BULK PACKED, 81				*PRAIRIE MILLS BAKING			
41	SERVINGS/CASE	Y		CS	COMPANY LLC	3400		
				cs	*MCLANE EXPRESS INCORPORATED	3400		
	FLAVOR, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE							
42	POUCH, 72/CASE	Y-ALT.		CS	*BRAUN BEEF CO INC	1500		
						4500		
				cs	*GENERAL MILLS SALES INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
	51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH,							
43	72/CASE	Y-ALT.		cs	*BRAUN BEEF CO INC	1500		
				cs	*GENERAL MILLS SALES INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
	PRETZEL ROLL, PRE-SLICED,			00		1300		
44	51% WHOLE GRAIN, LOW SODIUM, 120/CASE	Υ		cs	*J AND J SNACK FOODS SALES CORP	350		
45	ROLL, GLUTEN FREE, 51% WHOLE GRAIN, DINNER ROLL, BREADSTICK OR SIMILAR			cs		50	NB	NB
45	BREADS HOR OR SIMILAR			CO		30	ND	ND
	SANDWICH, HAM & CHEESE, INDIVIDUALLY WRAPPED, 51%				*PRAIRIE MILLS BAKING			
46	WHOLE GRAIN BREAD, 72/CASE	Y		cs	COMPANY LLC	100		
				cs	*TASTY BRANDS LLC	100		
	INDIVIDUALLY WRAPPED, POULTRY SAUSAGE, 51%				HEART OF TEXAS BISCUITS			
47	WHOLE GRAIN, 60/2.6 OZ/CS	Υ		cs	INC	2250	\$22.20	\$49,950.00
					*PRAIRIE MILLS BAKING	2250		
				cs	COMPANY LLC	2250		
				cs	JTM PROVISIONS CO INC	2250	\$79.00	\$177,750.00
48	KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, LOW SODIUM, 2.5 OZ,	ļ	8PS	cs	TYSON PREPARED FOODS	1500	\$13.57	\$20,355.00
	· · · · · · · · · · · · · · · · · · ·			- 50			Ţ. 3. <b>0</b> .	+,500.00
		Υ		cs	DOUBLE B FOODS	1500	\$47.60	\$71,400.00
					*MCLANE EXPRESS	4500		
<u> </u>				CS	INCORPORATED	1500		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	SAUSAGE ROLL, BREAKFAST, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 2 OZ, POULTRY KNOCKWURST							
49	WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, 136/CASE	Υ		cs	DOUBLE B FOODS	2250	\$44.50	\$100,125.00
				cs	*MCLANE EXPRESS INCORPORATED	2250		
50	SCONE DOUGH PUCK, LEMON BLUEBERRY, 51% WHOLE GRAIN, 96/CS SCONE DOUGH PUCK,	Υ		cs	*VAN WOLFS LLC	700		
51	STRAWBERRY, 51% WHOLE GRAIN, 96/CS ADDED, SLICED, FROZEN,	Υ		cs	*VAN WOLFS LLC	700		
52	GRADE A, FANCY, USUAGE DEPENDS ON USDA	Υ		cs	*MCLANE EXPRESS INCORPORATED	7000		
				cs	*J R SIMPLOT COMPANY	7000		
	SUNBUTTER & GRAPE JELLY SANDWICH, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN WITH CRUSTS REMOVED,							
53	96/CASE	Υ		cs	*BRAUN BEEF CO INC	500		
54	SWEET CREAM FILLED BREAKFAST BITES, 51% WHOLE GRAIN, 80 SERVINGS/CASE		зто	cs	*J AND J SNACK FOODS SALES CORP	900		
		Υ		cs	GOOD SOURCE SOLUTIONS	900	\$38.40	\$34,560.00
55	TAMALE, GREEN CHILE CHICKEN, IN HUSK, 51% WHOLE GRAIN		1NL	cs	*DEL REAL LLC	1500		
				cs	*PADRINO FOODS LLC	1500		
	EGG, TURKEY SAUSAGE AND CHEESE, BULK PACKED WITH PAPER SLEEVES INCLUDED IN CASE, 51% WHOLE GRAIN				TYSON PREPARED FOODS			
56	TORTILLA, 24/CASE		4NS	CS	INC	200	\$28.32	\$5,664.00
				cs	*RUIZ FOODS INCORPORATED	200		
	TRIPLE CHOCOLATE FILLED	Υ		cs	*MCLANE EXPRESS INCORPORATED	200		
57	COOKIE, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 120/CASE	Υ		cs	*BRAUN BEEF CO INC	1000		
				cs	RICH PRODUCTS CORPORATION	1000	\$42.84	\$42,840.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
	TURKEY HAM AND CHEESE BREAKFAST SANDWICH, INDIVIDUALLY WRAPPED, 51%				*PRAIRIE MILLS BAKING			
58	WHOLE GRAIN, 140/CASE		3TQ	CS	COMPANY LLC	1500		
		Υ		cs	INTEGRATED FOOD SERVICE	1500	\$56.69	\$85,035.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*TASTY BRANDS LLC	1500		
	WAFFLE MINIS, MAPLE FLAVOR							
	OR SIMILAR, SINGLE SERVE, 51% WHOLE GRAIN, OVENABLE							
59	POUCH		4MO	cs	*BRAUN BEEF CO INC	1000		
		Υ	ı	cs	*GENERAL MILLS SALES INC	1000		
	WAFFLE STICKS, BULK, 51%							
60	WHOLE GRAIN					2500	NB	NB
	SPAGHETTI WITH MEAT SAUCE, 51% WHOLE GRAIN, INDIVIDUAL							
61	TRAYS, 10.5 OZ EACH ZESTY BEANS AND CHEESE	NA		CS	JTM PROVISIONS CO INC	250	\$34.47	\$8,617.50
	ENTREE, PACKED IN OVENABLE							
62	SINGLE SERVING TRAY, 48/CASE	Υ		cs	*MCI FOODS INC	200		
				CS	*STERLING BV INC	200		
				00	*DDAUN DEEE CO INC	200		
	APPLE CINNAMON TEXAS			CS	*BRAUN BEEF CO INC	200		
	TOAST, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN.				*MCLANE EXPRESS			
63	96/CASE		1NL	cs	INCORPORATED	1500		
			4MO	CS	*NATIONAL FOOD GROUP INC	1500		
		Υ		CS	GOOD SOURCE SOLUTIONS	1500	\$46.10	\$69,150.00
				CS	*STERLING BV INC	1500		
	BEEF SAUSAGE AND CHEESE ON A 51% WHOLE GRAIN BAGEL,							
	INDIVIDUALLY WRAPPED.	.,		00	INTEGRATED FOOD OFFINIOR	4500	£45.00	\$07 F00 00
64	72/case	Y		CS	INTEGRATED FOOD SERVICE	1500	\$45.00	\$67,500.00
		Υ		cs	*NARDONE BROS BAKING CO INC	1500		
	CHEESY GARLIC BREADSTICK			03	1110	1300		
	DOUGH, 51% WHITE WHEAT FLOUR. 320/CASE, LAYER				RICH PRODUCTS			
65	PACKED.		4NS	cs	CORPORATION	500	\$21.90	\$10,950.00
					*MCLANE EXPRESS			
			4NS	CS	INCORPORATED	500		
					BRIDGFORD MARKETING			
		Υ		cs	COMPANY	500	\$23.88	\$11,940.00
	CHICKEN AND GREEN CHILIE							
	EMPANADAS, 51% WHOLE GRAIN CORN DOUGH, GLUTEN FREE,							
66	MUST BE SUITIBLE FOR BAKING. 50/CASE	у		CS	VESAR FOODS LLC	4000	\$21.50	\$86,000.00

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	CHICKEN LEG MEAT, ASIAN MARINATED WITH NO ADDED SAUCE. YANGS 5th TASTE #15565-4 OR EQUAL. 8/5#/CASE	У		cs	OUT OF THE SHELL LLC	750	\$146.59	\$109,942.50
	CHICKEN, PULLED. NATURAL PROPORTION 60 WHITE/40 DARK. ALL NATURAL WITH NO ALLERGENS. 2/5#/CASE	Y		cs	TYSON PREPARED FOODS	750	\$28.83	\$21,622.50
				cs	*BRAUN BEEF CO INC	750		<b>V</b> -13V-1-10V
				cs	*PERDUE FARMS INCORPORATED	750		
				cs	ASIAN FOOD SOLUTIONS	750	\$101.00	\$75,750.00
	CHORIZO (BEEF OR POULTRY-			cs	COMIDA VIDA INC	750	\$139.83	\$104,872.50
	NO PORK) AND CHEESE BREAKFAST WRAP. INDIVIDUALLY WRAPPED. 51%WHOLE GRAIN TORTILLA. 100/CASE	Υ		cs	INTEGRATED FOOD SERVICE	1500	\$50.15	\$75,225.00
	CINNAMON TWISTS, INDIVIDUALLY WRAPPED. 51% WHOLE GRAIN DOUGH TWISTED WITH A SWEET CINNAMON							
	FILLING. 120/CASE		3ТQ	CS	*BRAUN BEEF CO INC	1500		
		Υ		cs	ES FOODS	1500	\$42.00	\$63,000.00
	(BAK) DOUGH COOKIE BUTTER SUGAR (CATERING USE ONLY) 2 OZ/160 CT		3TQ	cs	*PRAIRIE MILLS BAKING COMPANY LLC	50		
			3TQ	cs	*BRAUN BEEF CO INC	50		
			ЗТО	cs	RICH PRODUCTS CORPORATION	50	\$34.29	\$1,714.50
		Υ		cs	*ARYZTA LLC	50		
				cs	*J AND J SNACK FOODS SALES CORP	50		
	(BAK) DOUGH COOKIE, CHOCOLATE CHIP, (CATERING USE ONLY) 2 OZ/160CT	_	зто	cs	*PRAIRIE MILLS BAKING COMPANY LLC	50		_
		Υ		cs	*ARYZTA LLC	50		
				cs	*BRAUN BEEF CO INC	50		
				cs	*J AND J SNACK FOODS SALES CORP	50		
				cs	RICH PRODUCTS CORPORATION	50	\$39.56	\$1,978.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	(BAK) DOUGH COOKIE MACADAMIA NUT (CATERING							
73	ONLY) 2 OZ /160CT	Υ		cs	*ARYZTA LLC	50		
					*J AND J SNACK FOODS			
				CS	SALES CORP	50		
				00	*DD AUN DEEE OO INO	50		
				CS	*BRAUN BEEF CO INC	50		
				cs	RICH PRODUCTS CORPORATION	50	\$43.66	\$2,183.00
	INDIVIDUALLY WRAPPED. 51% WHOLE GRAIN. ASIAN FOOD							
	SOLUTIONS #79201 OR EQUAL.			-	101111 5000 001 11510110		***	40
74	140/CASE	Υ		CS	ASIAN FOOD SOLUTIONS	300	\$29.00	\$8,700.00
	CROISSANT, 50% WHOLE GRAIN,							
75	FULLY CURVED, SLICED. NO TRANS FATS. 210/1.250Z.		1NL	cs	*PRAIRIE MILLS BAKING COMPANY LLC	500		
,,,								
		Υ		cs	*BRAUN BEEF CO INC	500		
	CRUMBLE, BLUEBERRY. PACKAGED IN INDIVIDUAL							
76	TRAYS WITH OVENABLE WRAP. 51% WHOLE GRAIN. 72/CASE		3TQ	cs	SKY BLUE FOODS LLC	1500	\$25.49	\$38,235.00
70	OTA WHOLE GRAND TELONOL		310	- 55	CIVI DEGE 1 0000 EE0	1000	<b>\$20.40</b>	<del>400,200.00</del>
		NA		cs	*STERLING BV INC	1500		
77	EDAMAME SHELLED, IQF. GREEN SOYBEANS. 6/2.5#/CASE		4MO	cs	*J R SIMPLOT COMPANY	250		
			HWO			200		
		Υ		cs	*MCLANE EXPRESS INCORPORATED	250		
	FIESTADA PIZZA. 51% WHOLE							
	GRAIN CRUST WITH A ZESTY TACO SAUCE, BLEND OF							
78	CHEESES AND BEEF TOPPING. 72/CASE	Υ		cs	*SCHWANS FOOD SERVICE	4000		
70	TEIONOL	•				4000		
				cs	*NARDONE BROS BAKING CO INC	4000		
	FISH, ALLASKAN POLLOCK, 3.60Z. HOT & SPICY SANDWICH							
	PORTION. 51% WHOLE GRAIN BREADING. SUITIBLE FOR							
79	BAKING. 10# CASE	Υ		cs	*BRAUN BEEF CO INC	500		
					*MCLANE EXPRESS			
				CS	INCORPORATED	500		
	TORTILLAS, MAPLE FLAVORED, 4.5". 51% WHOLE GRAIN.							
80	20/12CT.	Υ		cs	*BRAUN BEEF CO INC	750		
	MUFFIN TOP, APPLE CINNAMON, INDIVIDUALLY WRAPPED. 51%							
81	WHOLE GRAIN. 120/CASE		8PS	CS	SKY BLUE FOODS LLC	750	\$21.00	\$15,750.00
			4.01	cs	*DD ALIN DEEE CO INC	750		
			1NL	US	*BRAUN BEEF CO INC	130	1	

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
			1NL	cs	*MCLANE EXPRESS INCORPORATED	750		
		NA		cs	*STERLING BV INC	750		
	PEPPERONI STUFFED							
82	SANDWICH, BULK BACKED. 51% WHOLE GRAIN CRUST. 48/CASE	Υ		cs	*SCHWANS FOOD SERVICE	4000		
				cs	*BRAUN BEEF CO INC	4000		
				cs	*PRAIRIE MILLS BAKING COMPANY LLC	4000		
				cs	GOOD SOURCE SOLUTIONS	4000	\$73.29	\$293,160.00
				- 03	GOOD SOURCE SOLUTIONS	4000	\$13.29	\$293,100.00
83	RASPBERRIES, WHOLE AND BROKEN PIECES, IQF. GRADE B. 25#CASE		4MO	cs	*J R SIMPLOT COMPANY	400		
		Y		cs	*MCLANE EXPRESS INCORPORATED	400		
	SAUSAGE (BEEF OR POULTRY) AND CHEESE BREAKFAST PIZZA, INDIVIDUALLY WRAPPED. 51%							
84	WHOLE GRAIN CRUST. 100/CASE.		3TQ	cs	*MCLANE EXPRESS INCORPORATED	1600		
			3TQ	cs	*NARDONE BROS BAKING CO	1600		
			310			1000		
		Υ		cs	*SCHWANS FOOD SERVICE	1600		
				cs	S.A. PIAZZA AND ASSOCIATES LLC	1600	\$73.77	\$118,032.00
	UNCURED TURKEY HAM SLICING LOG, 1.75" DIAMETER. (PREFER				*JENNIE O TURKEY STORE			
85	PRE-SLICED LOG). 30# CASE SODIUM. MUST BE SMART	Υ		cs	SALES LLC	300		
86	SNACK COMPLIANT. McCAIN #1000002789 OR EQUAL. 6/5#	NA		cs	*J R SIMPLOT COMPANY	1500		
	TAQUITOQ QUIQVEN AND			cs	*MCLANE EXPRESS INCORPORATED	1500		
	TAQUITOS, CHICKEN AND CHEESE. 51% WHOLE GRAIN. SUITIBLE FOR BAKING NOT FRYING. 140/CASE. BULK				TYSON PREPARED FOODS			
87	PACKED.		3TQ	CS	INC	1500	\$34.65	\$51,975.00
			8PS	cs	*BRAUN BEEF CO INC	1500		
				cs	*RUIZ FOODS INCORPORATED	1500		
		Υ		cs	*MCLANE EXPRESS INCORPORATED	1500		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
88	TURKEY BREAST STICK, SMOKEHOUSE FLAVOR, INDIVIDUALLY WRAPPED. 400/CASE	Y		cs	*JENNIE O TURKEY STORE SALES LLC	200		
	VANILLA DONUT GLAZE. TO PROVIDE GLOSSY SHINE AND GOOD CLARITY. 40# PAIL.	Y		PL	*BRAUN BEEF CO INC	200		
				PL	RICH PRODUCTS CORPORATION	200	\$37.13	\$7,426.00
				PL	*MCLANE EXPRESS INCORPORATED	200		
90	VEGETABLE PINWHEEL, BULK PACKET. 51% WHOLE GRAIN DOUGH. FILLING TO INCLUDE MOZZARELLA CHEESE, BROCCOLI AND CHOPPED SPINACH. 96/CASE	Y		cs	ES FOODS	3000	\$67.20	\$201,600.00
	WAFFLE MINIS, MAPLE, SINGLE	r		C3	E3 F00D3	3000	\$01.2U	\$201,000.00
	SERVE, 72/CS.	Y		cs	*GENERAL MILLS SALES INC	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
92	WAFFLES, MINI, MAPLE CHIP, BULK, 81 SERV./CASE	Υ		cs	*PRAIRIE MILLS BAKING COMPANY LLC	2500		
93	YAKISOBA NOODLES, 51%WHOLE GRAIN. PRE- COOKED, HEAT AND SERVE. 4/5#/CASE	Y		cs	OUT OF THE SHELL LLC	250	\$20.95	\$5,237.50
				cs	ASIAN FOOD SOLUTIONS	250	\$30.00	\$7,500.00
				cs	*NATIONAL FOOD GROUP INC	250		
							***	*** *** ***
				CS	CHEFS CORNER FOODS	250	\$40.00	\$10,000.00
				cs	*BRAUN BEEF CO INC	250		
94	MARINADE, BULGOGI. 6/2#/CASE	Υ		cs	*NATIONAL FOOD GROUP INC	200		
95	BEEF, THINLY SLICED, UNCOOKED. 20# CASE.	Y		cs	*NATIONAL FOOD GROUP INC	200		
				cs	ASIAN FOOD SOLUTIONS	200	\$225.00	\$45,000.00
96	BROTH, BEEF. RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. 4/6#/CASE	Y		cs	*NATIONAL FOOD GROUP INC	200		
97	BROTH, CHICKEN. RICHLY SEASONED BROTH SUITIBLE FOR PHO IOR RAMEN APPLICATIONS. 4/6#/CASE			cs		200	NB	NB

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	PEANUT BUTTER & JELLY SANDWICH, GRAPE, WG, IW, 72/CASE	Υ		cs	TYSON PREPARED FOODS	400	\$29.44	\$11,776.00
				cs	*MCLANE EXPRESS INCORPORATED	400		
	BURRITO, BEEF, BEAN AND CHEESE. INDIVIDUALLY WRAPPED. 100/CASE		4NS	cs	*RUIZ FOODS INCORPORATED	300		
			4NS	cs	*MCLANE EXPRESS INCORPORATED	300		
			4NS	cs	*WINDSOR QUALITY FOODS COMPANY LTD	300		
		Y		CS	*MCI FOODS INC	300		